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SECTION - A

This section has 4 questions each of 1 mark. Write reasons in support of your answers.
1. Find the common difference of A.P. whose sum of n terms is given by §, = 9 i,

£ hge B i &

. ke = A AW 2
2. Find semiperimeter of semi circle if area of this semi circle is —mcm®.

3. If shadow of a tower is J3 times of the height then find angle of elevation.
4. If distance of O point (k, 4) from origin is 5 units then find the value of %.

SECTION - B

This section has 6 questions each of 2 marks.
5. Solve the following for x:
V2x? + 7+ 52 =0

6. Find the number of all three-digit natural numbers which are divisible by 9.

7. In Figure 1 two circles touch each other at the point C. Prove that the common tangent to the circles at C, bisects the
common tangent at P and Q.

ol

Fig. 1 Fig. 2
8. In Figure 2, a quadrilateral ABCD is drawn to circumscibe a circle. Prove that AB + CD = AD + BC.
9. Two coins are tossed simultaneously. Find the probability of getting at least one head.
10. The length of the minute hand of a clock is 14 cm. Find the area swept by the minute hand in 5 minutes.

SECTION - C

This section has 10 questions each of 3 marks.

I1. For what values of %, are the roots of the quadratic equation (k + 4) x> + (k+ 1) x+ 1 =0 equal ?
371
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12. The 19" term of an AP is equal to three times its sixth term. If its 9" term is 19, find the AP.

13. Draw a pair of tangents to a circles of radius 4 cm, which are inclined to each other at an angle of 60°.

14. As observed from the top of a 60 m high lighthouse from the sea-level, the angles of depression of two ships are 30° and
45°_ If one ship is exactly behind the other on the same side of the lighthouse, find the distance between the two ships.
[Use 3 =1.732]

15. Prove that the points A(2, 3), B(-2, 2), C(-1, -2) and D(3, —1) are the vertices of a square ABCD.

16. Find the ratio in which point P(-1, y) lying on the line segment joining points A(-3, 10) and B(6, -8) divides it. Also find
the value of y.

Q
17. In Figure 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If OA =21 cm, ¢ B
find the area of the shaded region.
[Use n= 2}
i
18. A toy is in the form of a cone mounted on a hemisphere of same radius 7 cm. If the total o[ p
. e s
height of the toy is 31 cm, find its total surface area. [USC n= 7}

19. A solid cone of base radius 10 cm is cut into two parts through the mid-point of its height, by a plane parallel to its base.
Find the ratio in the volumes of the two parts of the cone.

20. A solid metallic sphere of diameter 8 cm is melted and drawn into a cylindrical wire of uniform width. If the length of

the wire is 12 m, find its width.

SECTION - D

This section has 11 questions each of 4 marks.

21.

26.

27:

- In Figure 4, the sides AB, BC and CA of triangle ABC touch a circle with centre O

Solve for x:

: - : =§—;x¢0,2,3
=3 x—2 ' x

A box contains cards numbered 3, 5, 7, 9, ...., 35, 37. A card is drawn at random from the box. Find the probability that
the number on the drawn card is a prime number.

. The sum of first n terms of an AP is 5n° + 3n. If its m™ term is 168, find the value of m. Also find the 20" term of

this AP.
Prove that the lengths of tangents drawn from an external point to a circle are equal.

A

and radius r at P, Q and R respectively.
Prove that

(i) AB + CQ = AC + BQ o
1 .
(if) Area (A ABC) = - (Perimeter of A ABC) x r I"
B 3 c
The angle of elevation of the top of a builiding from the foot of a tower is 30°. The Fig. 4

angle of elevation of the top of the tower form the foot of the building is 60°. If the
tower is 60 m high, find the height of the building.

If the points A(1, -2), B(2, 3), C(-3. 2) and D(-4, -3) are the vertices of parallelogram ABCD, then taking AB as the base,
find the height of this parallelogram.
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Water running in a cylindrical pipe of inner diameter 7 cm, is collected in a container at the rate of 192.5 litres per minute.
22
Find the rate of flow of water in the pipe in km/h. [USC Wi 7}

While boarding an aeroplane, a passenger got hurt. The pilot, showing promptness and concern, made arrangements to
hospitalise the injured and so the plane started late by 30 minutes. To reach the destination, 1500 km away, in time, the

pilot increased the speed by 100 km/hour. Find the original speed/hour of the plane. Do you appreciate the values shown

by the pilot, namely promptness in providing help to the injured and his efforts to reach in time?
[Write two values you depict] ‘ ~

A container open at the top and made up of metal sheet is in the form of a frustum of a cone of height 16 cm with
diameters of its lower and upper ends as 16 cm and 40 cm respectively. Find the cost of metal sheet used to make the

container, if it costs ¥ 10 per 100 cm”. [Take 7 = 3.14]

(@) If a, b, c are the sides of a right angled triangle where c is the hypotenuse, Prove that the radius 7 of the circle which
a+b-c
2

4

touches the sides of the triangle is given by r =

(b) Two dices are thrown same time. Determine the probability that the difference of the numbers on the two dices is 2.

B ANSWERS
-4 2.36 cm 3. 30° 4 K=+3 5.—\/5&_—52@ 6. n =100
£ 497
f 10. Tcm2 ) Y o 8 1538 % Lo 14. 43.92 ms,
R:7,6 17. 693 — 441 = 252 cm? 18. 308 + 550 = 858 cm? 19,1 ToorF iz 1
3 12 11 :
—cm = 0.53 mm. 2. x=— &4 22. — 23,198
i5 : 5 18
27 = units 28, 3 km/hr.
m . \/2_6 o :
~. Original speed = 500 km/h
ues:

Pilots, promptness in getting the injured hospitalised is appreciable.
To reach the destination in time is also very important, provided, it is under safety norms to increases the speed.

O | N

F 195.936 = 7 196. 31. (b)
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